
CHEMISTRY

BOOKS - JMD CHEMISTRY (PUNJABI

ENGLISH)

d-And f-BLOCK ELEMENTS

Example

1. No. of unpaired electrons in  ions is :Fe2 +

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_1PL8aYOnANTQ


A. three

B. two

C. four

D. five

Answer: C

Watch Video Solution

2. Galvanisation of iron sheets is done by

A. Copper

https://dl.doubtnut.com/l/_1PL8aYOnANTQ
https://dl.doubtnut.com/l/_ITn2V1yOQAPV


B. Zine

C. Silver

D. Tin

Answer: B

Watch Video Solution

3. Which shows the maximum magnetic

moment?
 
 
 


A. 

V 3 + Cr3 + Fe3 + Co2 +

V 3 +

https://dl.doubtnut.com/l/_ITn2V1yOQAPV
https://dl.doubtnut.com/l/_7BK9Myn8dxw6


B. 

C. 

D. 

Answer: C

Watch Video Solution

Cr3 +

Fe3 +

Co3 +

4. Which does not belong to first transition

series?

A. Fe

https://dl.doubtnut.com/l/_7BK9Myn8dxw6
https://dl.doubtnut.com/l/_aSsuBUVmThvc


B. V

C. Ag

D. Cu

Answer: C

Watch Video Solution

5. Which has maximum number of unpaired

electrons?

A. Zn2 +

https://dl.doubtnut.com/l/_aSsuBUVmThvc
https://dl.doubtnut.com/l/_xxQkFO7OLp0c


B. 

C. 

D. 

Answer: B

Watch Video Solution

Fe2 +

Ni2 +

Cu2 +

6. Which is colourless in water ?

A. 

B. 

(H2O)

Ti3 +

V 3 +

https://dl.doubtnut.com/l/_xxQkFO7OLp0c
https://dl.doubtnut.com/l/_GoMCvYro1o10


C. 

D. 

Answer: D

Watch Video Solution

Cr3 +

Sc3 +

7. Essential constituent of an amalgam is

A. Iron

B. An alkali metal

C. Silver

https://dl.doubtnut.com/l/_GoMCvYro1o10
https://dl.doubtnut.com/l/_Dc6EIXEueFl5


D. Mercury

Answer: D

Watch Video Solution

8. The outermost electronic confi-guration of

transition metal 

is

A. 

B. 

ns2np3

ns2np6

https://dl.doubtnut.com/l/_Dc6EIXEueFl5
https://dl.doubtnut.com/l/_pAe22TeGpwLo


C. 

D. 

Answer: D

Watch Video Solution

ns2np5

(n − 1)d1 − 10ns2

9. The metal which does not form colour

compound is:
 Chromium,
 Iron,
 Zinc,

Manganese.

A. Chromium

https://dl.doubtnut.com/l/_pAe22TeGpwLo
https://dl.doubtnut.com/l/_N33K1VnIVXOX


B. Iron

C. Zine

D. Manganese

Answer: C

Watch Video Solution

10. When an acidified solution of ferrous

ammonium sulphate 

is treated with potassium permanganate

https://dl.doubtnut.com/l/_N33K1VnIVXOX
https://dl.doubtnut.com/l/_NgCYiawQBnU0


solution, the ion 

which is oxidized is

A. 

B. 

C. 

D. `SO_4^(2-)

Answer: C

Watch Video Solution

MnO
−
4

NH
+

4

Fe2 +

https://dl.doubtnut.com/l/_NgCYiawQBnU0


11. Brass contains

A. (Cu+Sn)

B. (Cu+Ni)

C. (Cu+Zn)

D. (Mg+AL)

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_b6n1epaQ24j8


12. Which of the following is not a d-block

element?

A. Hg

B. Po

C. Ni

D. W

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_VAgXVq2qd8qS
https://dl.doubtnut.com/l/_m6i6ySDjw6EU


13. Which metal has lowest melting point?
 Cs

Hg
Mn
Cu

A. Cs

B. Hg

C. Mn

D. Cu

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_m6i6ySDjw6EU


14. The number of unpaired electrons in 

is :

A. Zero

B. 2

C. 4

D. 8

Answer: B

Watch Video Solution

Ni2 +

https://dl.doubtnut.com/l/_k1iOqukhbgIY
https://dl.doubtnut.com/l/_T4VZQmbS3eTn


15. No. of unpaired electrons in  ions is :

A. 2

B. 4

C. 6

D. 3

Answer: B

Watch Video Solution

Fe2 +

https://dl.doubtnut.com/l/_T4VZQmbS3eTn


16. The magnetic nature of elements depend

on the presence 

of unpaired electrons. Identify the

configuration of transition 

element,which shows highest magnetic

moment.

A. 

B. 

C. 

D. 

3d7

3d5

3d8

3d2

https://dl.doubtnut.com/l/_KR1ufPyKApEc


Answer: B

Watch Video Solution

17. Electronic configuration of a transition

element X in +3 

oxidation state is .What is its atomic

number?
25,
26,
27,
24.

A. 25

B. 26

C. 27

[Ar]3d5

https://dl.doubtnut.com/l/_KR1ufPyKApEc
https://dl.doubtnut.com/l/_6yGzfAhWcJhS


D. 24

Answer: B

Watch Video Solution

18. With respect to aqueous solutions of

copper salts, which 

of the following is correct?

A. Cu(II) is more stable

B. Cu(II) is less stable

https://dl.doubtnut.com/l/_6yGzfAhWcJhS
https://dl.doubtnut.com/l/_bvR1zQkG8DAN


C. Cu(I) and Cu(II) are equally stable

D. Cu(I) and Cu(II) are equally unstable

Answer: A

Watch Video Solution

19. Zn, Cd, Hg are sometimes not considered as

transition elements. Comment.

Watch Video Solution

https://dl.doubtnut.com/l/_bvR1zQkG8DAN
https://dl.doubtnut.com/l/_e5y6rzVSFl80


20. Out of  and ,  has more

number of unpaired electrons.

Watch Video Solution

Fe2 + Fe3 + Fe3 +

21. Scandium  shows oxidation states

of +1 and 

+3.

Watch Video Solution

(Z = 21)

https://dl.doubtnut.com/l/_kmlYWUSlHaM8
https://dl.doubtnut.com/l/_ubMVzIwSC8ez


22. Mn (Atomic No.25) metal is with maximum

paramagnetic character. Explain with

electronic configuration.

Watch Video Solution

23. In aqueous solutions  is less stable

than 

Watch Video Solution

Cu+

Cu2 +

https://dl.doubtnut.com/l/_1IKWw7RuZLyl
https://dl.doubtnut.com/l/_a3s2yuTHejAV


24. in 3d-series,zinc  has highest

enthalpy of 

atomisation.

Watch Video Solution

(Z = 30)

25. In 3d-series,manganese shows maximum

number of 

oxidation states.

Watch Video Solution

https://dl.doubtnut.com/l/_Vl9NZpiK0cFj
https://dl.doubtnut.com/l/_LL1dZcnzxOSw
https://dl.doubtnut.com/l/_B1QKUgS3mDVq


26. As Oxidation state of a transition metal

increases,the base character 

of its oxide decreases.

Watch Video Solution

27. ZnO turns yellow on heating. Why?

Watch Video Solution

28. The O.S. of manganese in is +7KMnO4

https://dl.doubtnut.com/l/_B1QKUgS3mDVq
https://dl.doubtnut.com/l/_GYLA7nniOSv1
https://dl.doubtnut.com/l/_76zu7qchwfLC


Watch Video Solution

29. What are transition elements ? Which of

the d block elements are not regarded as

transition elements and why ?

Watch Video Solution

30. What are transition elements ? Which of

the d block elements are not regarded as

transition elements and why ?

Watch Video Solution

https://dl.doubtnut.com/l/_76zu7qchwfLC
https://dl.doubtnut.com/l/_jpujHT0Bgl9r
https://dl.doubtnut.com/l/_pgZ3rgGnbduh


31. Give the general electronic configuration of

d-block elements.

Watch Video Solution

32. Scandium (z = 21) is a transition element

but zinc (z = 30) is not. Explain.

Watch Video Solution

https://dl.doubtnut.com/l/_pgZ3rgGnbduh
https://dl.doubtnut.com/l/_rsRjuJnzz4GX
https://dl.doubtnut.com/l/_awC9FABNUjAu


33. Sliver atom has completely filled d-orbitals

 in its ground state. How can you say

that it is a transition element ?

Watch Video Solution

(4d10)

34. Zn salts are white,  salts are blue

explain

Watch Video Solution

Ni+ +

https://dl.doubtnut.com/l/_kCkBr8RDLExx
https://dl.doubtnut.com/l/_VTzbXtjLlfsZ


35. Account for :  salts are white while 

 salts are blue.

Watch Video Solution

Zn2 +

Cu2 +

36. Out of  and `Fe^(3+) which is more

paramagnetic and why ?

Watch Video Solution

Fe2 +

37. Why  salts are white ? Cd=48Cd2 +

https://dl.doubtnut.com/l/_zOTEOlLsfDsu
https://dl.doubtnut.com/l/_DEUompo239Vu
https://dl.doubtnut.com/l/_ZB9rkyFEoAEP


Watch Video Solution

38. Which of the two is paramagnetic V(IV) or

V(V) 

and why ?

Watch Video Solution

39. Ionisation energy of 5d-elements is more

than 3d- 

and 4d-elements. Why ?

https://dl.doubtnut.com/l/_ZB9rkyFEoAEP
https://dl.doubtnut.com/l/_cJOKt7apkGAm
https://dl.doubtnut.com/l/_eEQMF1MxSjWd


Watch Video Solution

40. Transition metals form number of

interstitial compounds. Explain.

Watch Video Solution

41. Why do transition metals have high

enthalpies of atomization ?

Watch Video Solution

https://dl.doubtnut.com/l/_eEQMF1MxSjWd
https://dl.doubtnut.com/l/_YPkELbF6A44y
https://dl.doubtnut.com/l/_eOmEpMeohc3U
https://dl.doubtnut.com/l/_3dFbn6NMyWJb


42. Why do transition metals have high

enthalpies of atomization ?

Watch Video Solution

43. Which of the 3d-series of transition

elements exhibits the largestn number of

oxidation states and why ?

Watch Video Solution

https://dl.doubtnut.com/l/_3dFbn6NMyWJb
https://dl.doubtnut.com/l/_yaHn0qJlm38G


44. Why  is strongly reducing while 

 is strongly oxidising ?

Watch Video Solution

Cr2 +

Mn3 +

45. Why  is strongly reducing while 

 is strongly oxidising ?

Watch Video Solution

Cr2 +

Mn3 +

https://dl.doubtnut.com/l/_gUoiHZRPI4Kg
https://dl.doubtnut.com/l/_wrzQSxcIAPqH


46. The value for copper is

positive (+0.34 

V). What is the possible reason for this ?

Watch Video Solution

E°(M 2 )
+

M

47. Why does Mn(II) shows maximum

paramagnetic 

character among the divalent ions of first

transition series ?

Watch Video Solution

https://dl.doubtnut.com/l/_IJfGM6G3rLAm
https://dl.doubtnut.com/l/_IJfiWHUVJeZl


48. Why are  compounds more stable

than  compounds towards oxidation to

their +3 state ?

Watch Video Solution

Mn2 +

Fe2 +

49. Transition metals form mostly coloured

compounds.Explain.

Watch Video Solution

https://dl.doubtnut.com/l/_IJfiWHUVJeZl
https://dl.doubtnut.com/l/_IeyGJBKc5noj
https://dl.doubtnut.com/l/_eVxmfMEg0af2
https://dl.doubtnut.com/l/_giduC5ZUbEu3


50. Most of the compounds of transition

elements are paramagnetic in nature. Explain.

Watch Video Solution

51. Explain :Transition elements exhibit

variable oxidation states.

Watch Video Solution

52. Explain why Cu(I) is diamagnetic while

Cu(II) is 

https://dl.doubtnut.com/l/_giduC5ZUbEu3
https://dl.doubtnut.com/l/_owYBqVubAr6L
https://dl.doubtnut.com/l/_WFvyQHE4VmNh


paramagnetic.

Watch Video Solution

53. Why are halogens coloured ?

Watch Video Solution

54.  ion is colourless while  Ion is

coloured. 

Explain.

Watch Video Solution

Sc3 + Cr3 +

https://dl.doubtnut.com/l/_WFvyQHE4VmNh
https://dl.doubtnut.com/l/_Wt6dMhjtZ8vl
https://dl.doubtnut.com/l/_Ar13Bg3asJeB


55. Transition metals form alloys with other

transition metals. Explain.

Watch Video Solution

56. Transition elements and their compounds

are found to be good catalysts. Give examples.

Watch Video Solution

https://dl.doubtnut.com/l/_Ar13Bg3asJeB
https://dl.doubtnut.com/l/_uhnKtmO3Y1SI
https://dl.doubtnut.com/l/_mM5PqAIzZjJQ


57. Transition metals formlarge number of

complex compounds.Explain.

Watch Video Solution

58. Why is the highest oxidation state of a

metal 

exhibited in its oxide or fluoride only ?

Watch Video Solution

https://dl.doubtnut.com/l/_Okr9lKVzEYNj
https://dl.doubtnut.com/l/_263CYtpz5P97


59. Which is stronger reducing agent  or 

 and why ?

Watch Video Solution

Cr2 +

Fe2 +

60. Why are  compounds more stable

than  towards oxidation to their +3 state

?

Watch Video Solution

M ∈2 +

Fe2 +

https://dl.doubtnut.com/l/_UjiT8l0vG4c5
https://dl.doubtnut.com/l/_HSnziQEehiqF


61. What is meant by ‘disproportionation' of an

oxidation state ? Give an example.

Watch Video Solution

62. Why Zn, Cd, Hg are soft and have low m.pt.

Watch Video Solution

63. The  configuration is very unstable in

transition 

d1

https://dl.doubtnut.com/l/_9jLGrEyt1Moo
https://dl.doubtnut.com/l/_OJgzVqjmx49K
https://dl.doubtnut.com/l/_CL35V8csJL3K


metal ions. Explain why ?

Watch Video Solution

64. Which does not belong to first transition

series?

Watch Video Solution

65. In Alkaline solution we have chromates and

in acidic solution, dichromates ? Explain.

Watch Video Solution

https://dl.doubtnut.com/l/_CL35V8csJL3K
https://dl.doubtnut.com/l/_NUU1OpX4orht
https://dl.doubtnut.com/l/_CVfoY8g9V3ri


66. Write a short note on chromyl chloride

test.

Watch Video Solution

67. Explain the structure of chromate and

dichromate 

ions.

Watch Video Solution

https://dl.doubtnut.com/l/_CVfoY8g9V3ri
https://dl.doubtnut.com/l/_v8WBJga8rnyd
https://dl.doubtnut.com/l/_vIE98TyUkFLy
https://dl.doubtnut.com/l/_FRmFLKIRvQit


68. Write reactions of , in acidic

medium with Kl

Watch Video Solution

K2Cr2O7

69. How acidified  reacts with the

following : 

Watch Video Solution

K2Cr2O7

FeSO4

https://dl.doubtnut.com/l/_FRmFLKIRvQit
https://dl.doubtnut.com/l/_H7C8SDQODiur


70. Write reactions of , in acidic

medium with .

Watch Video Solution

K2Cr2O7

H2S

71. How acidified  reacts with the

following : 

Watch Video Solution

K2Cr2O7

Na2SO4

https://dl.doubtnut.com/l/_dKq8SDcddhh1
https://dl.doubtnut.com/l/_O9ygxaE5JWWa


72. Give balanced equations for the reaction

between Acidified Potassium dichromate and

Sulphur dioxide  gas.

Watch Video Solution

(SO2)

73. Give the preparation of  from

pyrolusite ore.

Watch Video Solution

KMnO4

https://dl.doubtnut.com/l/_ccHohWlOMHtt
https://dl.doubtnut.com/l/_FFsdEjRDP2E1


74. Draw the structure of permanganate ion.

Watch Video Solution

75. Write reactions of , in acidic

meduim with 

Watch Video Solution

KMnO4

FeSO4

76. How acidified  solution reacts with

the 

KMnO4

https://dl.doubtnut.com/l/_JEglsam1qZtb
https://dl.doubtnut.com/l/_qg1RDRf7lUT7
https://dl.doubtnut.com/l/_vwrvbJsHuSu4


following in acidic medium : 

.

Watch Video Solution

SO2

77. What happens when acidic  reacts

with Kl ?

Watch Video Solution

KMnO4

78. How acidified  solution reacts with

the 

KMnO4

https://dl.doubtnut.com/l/_vwrvbJsHuSu4
https://dl.doubtnut.com/l/_SRLRlRMhmf3q
https://dl.doubtnut.com/l/_cJS0dVfvb7zS


following in acidic medium : 

.

Watch Video Solution

H2S

79. What is the action of heat on 

and 

?

Watch Video Solution

K2Cr2O7

KMnO4

80. What are lanthanoids ?

https://dl.doubtnut.com/l/_cJS0dVfvb7zS
https://dl.doubtnut.com/l/_NJ978zv9uNY1
https://dl.doubtnut.com/l/_xmC1tO2FcDL4


Watch Video Solution

81. Write the general electronic configuration

of 

f-block elements.

Watch Video Solution

82. Why are Lanthanides called inner

transition metals.

Watch Video Solution

https://dl.doubtnut.com/l/_xmC1tO2FcDL4
https://dl.doubtnut.com/l/_pIcoKwvahink
https://dl.doubtnut.com/l/_ucifQKWKB3gh


83. What are different oxidation states

exhibited by 

lanthanoids ?

Watch Video Solution

84. Why do La, Gd and Lu exhibit only +3

oxidation state ?

Watch Video Solution

https://dl.doubtnut.com/l/_ucifQKWKB3gh
https://dl.doubtnut.com/l/_D62zE6RPkiaW
https://dl.doubtnut.com/l/_LGUiDLqkWeTl
https://dl.doubtnut.com/l/_QSjs9sZCbhxz


85. The +3 oxidation state of Lanthanium

(Z=57). Gadolinium (Z=64) and Lutetium (Z=71)

are especially stable, Why ?

Watch Video Solution

86. What is Lanthanide contraction ? What is

the cause and consequences of Lanthanide

contraction ?

Watch Video Solution

https://dl.doubtnut.com/l/_QSjs9sZCbhxz
https://dl.doubtnut.com/l/_QTZgR3xsfd0Z


87. Why is separation of lanthanide elements

difficult ?

Watch Video Solution

88. Why is  more basic than 

 ?

Watch Video Solution

La(OH)3

Lu(OH)3

89. Why Zr and Hf exhibit similar properties ?

https://dl.doubtnut.com/l/_kBkqWB7805dT
https://dl.doubtnut.com/l/_pmvucvTyYzbF
https://dl.doubtnut.com/l/_8RDfbwbpIull


Watch Video Solution

90. The second and third members in a group

of transition metals have similar atomic radii.

Why ?

Watch Video Solution

91. Compare the chemistry of actinides with

that of 

https://dl.doubtnut.com/l/_8RDfbwbpIull
https://dl.doubtnut.com/l/_24wDgDHy50fx
https://dl.doubtnut.com/l/_TVNyuIyrjwh2


the lanthanoids with special reference to 

electronic Configuration.

Watch Video Solution

92. Compare the chemistry of actinides with

that of 

the lanthanides with special reference to 

atomic and ionic sizes.

Watch Video Solution

https://dl.doubtnut.com/l/_TVNyuIyrjwh2
https://dl.doubtnut.com/l/_FzrbGNbR4vev


93. Compare the chemistry of actinides with

that of Lanthanides with special reference to

oxidation state

Watch Video Solution

94. Compare the chemistry of actinides with

that of 

the lanthanides with special reference to 

chemical reactivity.

Watch Video Solution

https://dl.doubtnut.com/l/_tmRFfp7w09So
https://dl.doubtnut.com/l/_QxC9EJ0FQTYU


95. Give various uses of lanthanides and

actinides.

Watch Video Solution

96. What arecoinage metals ?

Watch Video Solution

https://dl.doubtnut.com/l/_QxC9EJ0FQTYU
https://dl.doubtnut.com/l/_LZKHLFQe1X2C
https://dl.doubtnut.com/l/_1pkMZpK4hkbS

